XP900 Spare Tire Mounting Bracket
P/N: EMP-11099
Must be used with P/N: EMP-11097 Rear Bumper.

Includes:

1. (1) Spare Tire Rack

2. (2) 3/8-24 Chrome Lug Nut.
3. (2)3/8” x 1” Flange Bolts.
4. (2) 3/8” Flange Nuts.

5. (1) Logo Sticker

WWW.EXTREMEMETALPRODUCTS.COM
OFF-ROAD ACCESSORIES
Cleveland, Ohio

XP900 Spare Tire Mounting Bracket
P/N: EMP-11099
Must be used with P/N: EMP-11097 Rear Bumper.

Includes:

1. (1) Spare Tire Rack

2. (2)3/8-24 Chrome Lug Nut.
3. (2)3/8”x 1” Flange Bolts.
4. (2)3/8” Flange Nuts.

5. (1) Logo Sticker

>

WWW.EXTREMEMETALPRODUCTS.COM
OFF-ROAD ACCESSORIES
Cleveland, Ohio

XP900 Spare Tire Mounting Bracket
P/N: EMP-11099
Must be used with P/N: EMP-11097 Rear Bumper.

Includes:

1. (1) Spare Tire Rack

2. (2)3/8-24 Chrome Lug Nut.
3. (2)3/8” x 1” Flange Bolts.
4. (2) 3/8” Flange Nuts.

5. (1) Logo Sticker

WWW.EXTREMEMETALPRODUCTS.COM
OFF-ROAD ACCESSORIES
Cleveland, Ohio

XP900 Spare Tire Mounting Bracket
P/N: EMP-11099
Must be used with P/N: EMP-11097 Rear Bumper.

Includes:

1. (1) Spare Tire Rack

2. (2)3/8-24 Chrome Lug Nut.
3. (2)3/8”x 1” Flange Bolts.
4. (2)3/8” Flange Nuts.

5. (1) Logo Sticker

>

WWW.EXTREMEMETALPRODUCTS.COM
OFF-ROAD ACCESSORIES
Cleveland, Ohio




